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1. =1 TefEdehd 200 TEGHTS TR TaiaTEs Y9 IR TRTHE TR,
AT 8~ THRITH - Yo T (FXIST + SIS 3FATE) , 9HT R - FUSH - Yo TH, I 3 - SUSIIH - 4o TH,
T ¥ - TR - Yo T (FIST + S TJATS).

2. WieT GE SUATgE S1.TH.HR. T 6] ST F TRt e e STTd.

T TISTIAHT el GEaTd 9 s IHSIRH AT TR SETE.

4, IHGERH AT TAYEeheR e qe STARRha feica FaT e qash Jr=meamd J aTaR TR &iehat
T oIy 371 UH.3TR. Junelt= STRufhet STawed wifed! 3aT1., Ueqfesh! se3id s, ITIHTH
T T = Tt aReT ue ST S fed foteran 9 erate gel FE. Tuaeshe SIidd ATt SHEaRH
Frafeud fofeeht 3R 8 qURE T T . IHETRM STRUhaR ST TeAgfeaeha @t e,

5. T Giefavargdt swiesigEs armEd.

6. TT TRAMM 4 SgTrl I fociel] ATed @Il Toh aid ard I HiTed .

7. A IR ferfevamETet Stafichat Hefe TeRHTRTR STHceAT adSTiehl T T e Ide @ 3T
TUITOT ShTeAT ST TS,

8. Thal Wledl IR TSI U™ fohal TTek! TS JTRUATH F1E 3TR. Tehal faeial 3 S8yl q
FAfcfEm U eTeTa.

9. YIS I ITWETR! T U1 faeAT S, TohRIeHeR T[UT JUATa A ATet. ThuaT ATk agestd gon
HeATE AT GIEFAIS ohelcl] FHATE T STAT 0T Tt T A1,

10. T W FOIHE! THY&RG aTe! faerel! ST ST, STRUfehar Thed &H & 4.
11, Jegfeqeher a8 SAAchar Tt shotel! STEeTe @ e Tiar=h 9 HUedTaR T gl GHa SehTehs
A . T e e @ e Fe .
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SECTION -1 (General Knowledge & Aptitude)
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1. Rayon is chemically

A) a cellulose  B) a pectin C) a glucose D) an amylase
2. 1T BT TETETE Wil ierdeh! shiordT JehR 318 7
A) AN B) UadH C) &S D) UHicH

2. A Siphon will fail to work if
A) the densities of the liquid in the two vessels are equal
B) the level of the liquid in the two vessels are at the same height
C) both its limbs are of unequal length
D) the temperature of the liquids in the two vessels are the same
2. ‘Siphon’ TTH U TIFIM ST SR
A) IH AT ST S HHH A W
B) eF Wigameie gar= 3= arE= 3/fd @
C) Tal Ty STEHM AT =1 STEAA T
D) TN WieaIHeie S aTIHH TRET 378 &
3. Oil rises up the wick in a lamp. The principle involves
A) the diffusion of oil through the wick
B) the liquid state of oil
C) capillary action phenomenon
D) volatility of oil
3. doT=T fesmed, Ot aTdiuYd o IeuTaTa! WiefieTdehl shivid d THTIORE 318 7
A) T HEA qeTTel ATHET B) deATel 5& ST
C) HITHYT foma D) derei STfEerar
4. Rainbow is due to

A) absorption of sunlight in minute water droplets
B) diffusion of sunlight through water droplets
C) ionisation of water deposits

D) refraction and reflection of sunlight by water droplets
¥. TR ATges Ao e

A) IO ASTHE QAT TSAT ST

B) IO e GRS SRR

C) 99l SATETET ST

D) T eTed GRS STaadH AT FiadH
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. The nucleus of a hydrogen atom consists of

A) 1 proton only B) 1 proton + 2 neutron
C) 1 neutron only D) 1 electron only
. TGS T[T g 31T,
A) F9& 1 T B) 1 W +2 =qgH
C) %de 1 AgH D) %ae | ToiaeH

There are four roads. I have come from the south and want to go to the temple. The road
to the right leads me away from the coffee house; straight ahead it leads only to a
college. In which direction is the temple ?

A) East B) West C) North D) South

. TR T ATed. H &vehgA STl ST Hell SaesTd SR 3R, ISfalehed Tl Hell hith]

ETSH=T TG, TGRS ST, Tes T shictsl ohe ST, T 43,63 hiIcT (eIt S8 7
A) T B) us=fig C) 3 D) gfaror

A husband and wife had five married sons and each of these had four children. How
many members are there in the family ?

A) 12 B) 17 C) 22 D) 32

. ToRT ST uTe foaTeia got ST1ed ST < YeshTell 9IR Hot 3TTed. I Fgamg e Ul
fordt Taw 31TRd 7
A) 12 B) 17 C) 22 D) 32

. Sheela is older than Meena, Kamini is as old as Nalini. Nitu is younger than Sindhu,

who 18 as old as Nalini; Meena is older than Kamini. Which Girl is oldest of all ?
A) Sheela B) Meena C) Nalini D) Kamini

. ST HAT YeaT At TR, ST Fiort = wweriv o1, fiq e Y aem o1R, fae At =

THIAH 3Tg, {1 R UeT A1t 3R, T EAId HId] ol shivrdl ?
A) ittt B) HHT C) et D) et

If the fourth day of the month falls one day before Sunday, what day will fall on the
eleventh day of the same month ?

A) Monday B) Wednesday C) Friday D) Saturday

. Jig=aren = feaw toam=an ue feaw smeft 1/t O <= Aig=d Ashen fead v ?

A) GHaR B) AR C) IR D) ITHaR

Clerk/Steno/Stenotypist



TR s-

10. A is father of B, C is daughter of A. Of the following, what is the likely relation between

o

?

11

2R

12

R

13

3.

14

?¥.

Band C?
A) Father and daughter B) Brother and Sister
C) Husband and Wife D) Uncle and Niece
VAR IR AR, F @ gorft R, T i ‘&® Hefid A v ?
A) FEA AT gerrft B) WIS ATfur syfgor
C) 9 31T It D) hiehT JATIOT Tl
. Pulses are a good source of
A) carbohydrates B) fats
C) proteins D) vitamins
. ST Tl I 4 IR,
A) Haeh B) Wg C) A D) S dea

. In electrical field, ‘AC’ stands for ?
A) Alternating Current
B) Average Current
C) Atomic Current
D) Aggregate Current
. forga forsefieen IS < ACT 1w AT wreaTen WicieryehRt qut o1ef 3Ty
A) Alternating Current
B) Average Current
C) Atomic Current
D) Aggregate Current

. In computer science, how many bits make a byte ?
A) 4 B) 8 C) 16 D) 32
qrTuTeh fasmed, fohrd fre, sge o staTa ?
A) 4 B) 8 C) 16 D) 32
. The “home page” of a web site is
A) The largest page B) The last page
C) The first page D) The most colorful page
EERICAC I LS 3.
A) Hald Hid UM B) Iaea UH
C) uftat U= D) Hald Tiid 99
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4.

16.

g8,

17.

2.

18.

2¢.

19.

gR.

6- LT

. ‘DTP’ computer abbreviation usually means
A) Digital Transmission Protocol B) DeskTop Publishing
C) Data Type Programming D) Document Type Processing

kT S 2T 3168 AT ST ST,
A) fefoea arofism Memnia B) S&He(T UscA i
C) <21 TET Tl D) SiRH 59 TR

P.T. Usha, who came close to bagging a bronze medal, finished fourth in ,in 1984
Olympics.

A) 400 m final B) 800 m final C) 400 m hurdle D) the marathon

3. 3T, St it Ueeh UTeisaes g eet] Bidl, o4 1984 Aiciidieh He el
1T FHHT THTIAT.

A) 400 Ht 3T B) 800 HI Ad®  C) 400 Ht g D) HqUH

The blood pressure of a young male human being is
A) 100/60 B) 120/80 C) 150/100 D) 160/110
axyl °I¢||('|(\I(”I JeNI=l {thald ?;R:R‘ﬁ
A) 100/60 B) 120/80 C) 150/100 D) 160/110
The scientist who first discovered that the earth revolves round the sun was
A) Newton B) Copernicus C) Dalton D) Einstein
gt gaTIE TR ATe dfecaTaT SIe Ao Sk
A) =& B) ®IWHFE  C) Tlead D) T

The function of a dynamo is

A) To convert heat energy into light energy

B) To convert light energy into heat energy

C) To convert mechanical energy into electrical energy

D) To convert electrical energy into mechanical energy
ST =

A) I 35T TehTRT TohT0T Ioid TR ol

B) JehTST Toh0T 39T 30T Ioid TR L0l

C) TR Ieiol T Isid EHTAL H0]

IREEIESERIEEAS LRI IER|
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20. Which Bank has the maximum number of branches ?

Ro

21

%

22

R

23

3.

A) State Bank of India B) HDFC Bank
C) ICICI Bank D) Bank of India

. SRITCHT Sk Fatd STTed I 31 ¢

A) AR €L e (T2 sfeh AT gfean)

B) TI €I TH €l s

C) I H 3T T 3T

D) % 3T gfea
. Tippu Sultan was the ruler of

A) Hyderabad  B) Madurai C) Mysore D) Vijayanagar
 foggaam_ Jsfias e

A) THETR B) Tg C) =W D) fasramr
. The member of Rajya Sabha is elected for a term of

A) 2 years B) 4 years

C) 5 years D) 6 years
. TSIaT e Hag wamadt o1,

A) R oY B) ¥ a9

C) uad D) & 99

. Devaluation of currency causes
A) No change in domestic prices
B) Fall in domestic prices
C) Increase in domestic prices
D) Variable domestic prices
TETh T e WIetiel Ikl ShivraT TRome gl ?
A) T =T [ HTeE Sed B AT
B) SR s Fhefind) e 8
C) T s fehAdine ame e
D) Sl s i SR () /ST ) €
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24.

R¥.

25.

4.

26.

R&.

27.

R,

28.

RC.

29.

RR.

30.

_8-

The Yarlung Zangbo river, in India, is known as

A) Ganga B) Indus C) Brahmaputra
TRATHES AR TS FEIAT 1l FEUTTd ¢

A) T B) 3§51 C) SR
Which country has the largest coast line ?

A) Canada B) Australia C) US.A.
SHITCIT ST Hid HIST T3 feh T 3112 7

A) FAST B) afteferan C) 3.U8.T.

D) Mahanadi

D) HeMet

D) India

D) ARd

Hitler’s Party that came into power in 1933 was known as
A) Labour Party B) Nazi Party  C) Ku-Klux-Klan D) Democratic Party

9% 33 Y Hedol AT fZeei Ir=a urdi= 419 Wiefied Ykl shivrd 3772 7
A) TR T B) el e C) F-Fq-daH D) SHIshe q1el

Name of the India’s first satellite
A) Aryabhatta B) Bhaskaral C) Bhaskara II

D) Albert Einstein

IRATeA Iieed Hedms e A1

A) IRvee B) IR I C) IR I D) 3TASE IZ2TEH
The distance between two wickets on a cricket pitch is

A) 18 yards B) 20 yards C) 22 yards D) 24 yards
Terche T aftet 3 forehe wefler Tar feret a7 7

A) 18 It B) 20 I1E C) 22T D) 24 918
Tajmahal is situated on ____ river.

A) Gomti B) Yamuna C) Narmada D) Ganga
LISES] 7 TR TG ATz,

A) T B) I C) THer D) T
Nalanda is located

A) near Patna, in Bihar B) near Varanasi, in Uttar Pradesh

C) near Baroda, in Gujarat D) near Bhopal, in Madhya Pradesh

. ATART Y T AT
A) TR T, qret Sige B) 3T YeX HeY, TRV Sac
C) T AL, Ieial 7l D) &Y Ye¥T Hed, WITe Sac
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31.

32.

32.

3R.

33.

33

34.

3¥%.

Who was the first Indian to go into space ?

A) Ravi Malhotra B) Satish Dawan
C) Kalpana Chawla D) Rakesh Sharma
AT SR Ut W I ¢

A) T HeEHT B) GdIe g

C) e =TEdl D) Teh3T I

The hardest substance available on earth is

A) Gold B) Iron C) Diamond D) Platinum
Jeefiar IUTTsY ITTTAT Hid 2uTeh FaTef v ?

A) §H B) e C) fe D) widm
The filament of an electric bulb is made of

A) tungsten B) nichrome

C) graphite D) iron
SAFEIh dod o1 fthefi=e haTH dIR FATAT 3178 7

A) TTEH B) M

C) TTHIES D) @&

Potassium Permanganate is used for purifying drinking water, because
A) it is an oxidising agent
B) it dissolves the impurities of water
C) it is a reducing agent
D) it is a sterilising agent
7ot Y6 FAUATETS! TIERIEH THTHE =T AT hel STl R
A) d AT TS AR
B) I qToameid HAR[SdT hreal
C) 1 1ggH1T T2 37T%
D) a1 LA TSI 3R
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35.

4.

36.

38,

37.

3.

38.

3¢.

39.

3R

-10- LT

Enormous energy release happens in an atomic explosion due to
A) conversion of chemical energy into heat energy

B) conversion of mechanical energy into nuclear energy

C) conversion of mass into energy

D) conversion of neutrons into protons
Y] e e, Hidt 31 {oh BI0AT= Shivl @i dehl 3R

A) TETEIS 37 30 ISHEY AT 801

B) ifieh 3ot 370] 3oiHed T &1l

C) TEIHMTE ISTHE TR S0l

D) i o Wi Ted TR gl

Three of the following are alike in a certain way. Which one is not like the other three ?

A) Boy B) Dog C) Bull D) Bird
GTei el aTHITd Teh 3168 G ATal. I AGHH 68 A1SdT.
A) Ham B) =1 C) o D) uaft

In a certain code ‘MEDICAL’ is written as ‘LACIDEM’. How is ‘TABLE’ written in that
code ?

A) EABLT B) ELBAT C) TELBA D) TLBAE
TETEn Fiens ‘MEDICAL’ 318€ ‘LACIDEM’ 31 fefeTaT, T “TABLE’ 813788 ST fetfgat

EIEG N

A) EABLT B) ELBAT C) TELBA D) TLBAE

Which of the following word comes third in the order in a dictionary ?

A) Obsess B) Obstruct

C) Obtrude D) Obtain

Qe ieTdeh! ShIUTdT IT6¢ eeaURTHE =T SHHTeRTR et ?
A) Obsess B) Obstruct

C) Obtrude D) Obtain

What is the next number in the series — 18, 10, 6, 4, ?

A) 8 B) 6 0 3 D) 5
18,10, 6, 4, ? 91 J@cHed IEI 37 i IS ¢
A) 8 B) 6 0 3 D) 5
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40

41.

%2.

42.

¥R.

43.

¥3.

44,

¥¥.

What continues the series — AOZ, BOY, COX, DOW, ?
A) EOX B) FPY C) EVO D) EOV

. 91 EHE I8 % AR - AOZ, BOY, COX, DOW, ?

A) EOX B) FPY C) EVO D) EOV

The landmass of which of the following continents is the least ?

A) Africa B) Australia C) Asia D) Europe
QT cTieh! Tdid BT T ST ?

INE 12260 B) sl ) sl D) F
James Watt invented

A) Diving bell B) Steam boat

C) Hot air balloon D) Rotary steam engine
ST 2 = I I AT 7

A) TUEET FHE (ST o) B) ARt Ale

C) TH T F D) U feem 3efi

Arjuna Award is given for

A) Outstanding service in emergency

B) Outstanding bravery on battlefield

C) Outstanding performance in sports

D) Excellent service to slum dwellers
S T ) foe

A) T TR e SgEHT Sa|Tat

B) JemHid ST JaHTEl

C) TaMid IeciE 1 M TRIETS!

D) USTS AR TNt hH R shedTeled
Who is the writer of ‘Swamy and Friends’ ?

A) Munshi Premchand B) Raman
C) Max Muller D) R. K. Narayan

‘Swamy and Friends’ I1 J&IhT=T ©ieh <hI0T 7
A) gEftYm=Ee . B) WO C) Hod Hoolk D) AR. &. TLREVH
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45.

¥4,

46.

¥&.

47.

48.

<.

49.

¥\%.

50.

Yo.
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INTERPOL means
A) International Political Conference
B) International Criminal Police Organisation

C) International Association of Police Officers
D) None of these

I FEUS T ¢
A) TTHIFS TIAhed Shi-hi

B) SHITHA Toh S T 19 SATTTHRISNH

C) 3R STHTEUIA 377 oA 1 ST
D) ITdeh hivIde! ATet

The command to ask the computer to put information in order numerically or alphabetically
A) Crop B) Report C) Record D) Sort

TATIRTCT STSRTIIHTO ST STChIeIeIehal HTfgd] SUTETR! ShIvId] SHHTS SaTd ¢
A) F1a B) fard C) @&ie D) @i

Citrl, Shift and Alt are called as ______ keys.
A) Adjustment B) Function
C) Modifier D) Alphanumeric

. Ctrl, Shift 37101 Alt I 1 TEUTTd.

A) TesEen=< B) %M C) HISHRR D) STchRRIHRIH

The number of districts in Maharashtra State is

A) 23 B) 36 C) 39 D) 45
TERTSe Tsameial rearm= g

A) 23 B) 36 C) 39 D) 45
When was Maharashtra State formed ?

A) 1947 B) 1950 C) 1955 D) 1960
TERTSE TS Shogl IR 3T 7

A) 1947 B) 1950 C) 1955 D) 1960
Number of members in the Maharashtra Vidhan Sabha is

A) 543 B) 288 C) 298 D) 308
e faemmasme fohd) ge o1

A) 543 B) 288 C) 298 D) 308
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SECTION - II (Wrdt fareame 7 )
51. forsryur & sreer=h v STd 3112 ?

INREIEE R B) foerrt C) 39y D) forverdt
52. b YS_TAT SHTeRLUTTd sh1dl FEUITT ¢

A) et B) Tt C) e D) T
53. YTeETeT Hob TS daciciel &9 FEUS &Y 7

A) ¥58 B) U§ C) 31&R D) gui

54. ST, ¥, | I 6 TRUAT ¢
A) 3H B) U1 C) 9ui D) &

55. ‘& 110l 991 HHAT ST ?

A) &R B) &I C) TaFavi D) Havf

56. Yq-Toame fermfas eTieEr.
A) @amfes B) smmmuife C) wdlmuifas D) we s

57. ‘srfsren’ € sherd Sredl 3R 7

A) T B) reer=t C) ISHTE D) o=
58. ‘UES UHT Ushea IS Uides] shiedTd el T SATdl.

A) ‘TR B) R C) i D) &
59. ‘TEUTE ATTes TS — AR JhR e,

A) 3uHT B) 9% C) 3= D) 3cJe
60. THTERAY TS ST, THHUT TTHIE ~ ST T 10T ST

A) TETE B) Higd C) A D) e
61. FurteT IR YUt FLUITS! ST Hed SATe AT 7

A) T B) =S C) W= D) 7R

62. Hd TR 9 TFd S5 THT 61 FgoaTd ?
A) TUHTET B) &R C) JRrEel D) ge&1er

63. VT TIIRTUT SHIUTR ITE © 3R
A) TR B) 7T C) STTHGRIITE D) &
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64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.
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foraI =Terd 0T 919 ShI0Id 7

A) AU B) Wl C) ar=H D) q@FTd
FHidddic Higdexi- FEU T ?

A) TR B) TEW C) died D) TeHTed
ot fray forfeay’ = e {dt s[gehtes v ?

A) # fey fefea @ B) i ey ferfee g

C) i fey fafed gt D) i fsiy forfeen

1 TShaTIeTeTT SF 1 ARTATd 37311 fohaTaeredt s FeurdTd ?
A) I B) gfies C) framge D) STquiferer

VI &I G JhR IV 7

A) TI3T AW I AGH ST B) ®¢d 3Tt

C) 4 I 79 319 D) I & Tfia 318
AATETE =1 o T e forerequr 3R

A) THRA™ B) fomism C) YEaE=eTM D) grgarea ™

CIGINME NN E R EEARINEAC Ce R RIPA TR

A) TR B) =& C) JAIE D) fs@mn
‘AT T SATAT . (T 3TVesE)

A) HHuft B) sl C) 9 D) 3TehHe Tl
ITEM Hehe AT Hed Tl | STl qemd SR JIfeeieh Q91 =TT | — STAHR ATl
A) ER B) SUIHI C) FETdt D) 3Tt

¥R ST | Ud BTt it arel |
T TR T | SIS 35T 31 ||

A) At B) 319 C) I D) 3TAHR
TEAT AT ATeATHes HI IMed SV ATE!, e ST Il Shied TR ATl
A) Had B) fux C) ¥gF D) @l

TR BR 863 9TAd, TShaTioreIS T TR Hies.
A) T&EEE  B) fdlames C) hIar=h D) IRATET
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76. Hi SR dievATgE T ASE A1 ST RATIETET TehR ST,

7.

78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

22

A) Aafd B) IS C) I

‘@iud’ a1 foranforsS o= Yehr v ?

A) FIHREIH  B) TR C) Frveresis
HAYRTEd vreern 374 Aiewr. ‘oM srad d foree’
A) o s/ B) Sl U5 318
C) aAfesft D) &S

‘Fuur 31 vTegTE faregeeff 31eg wHivT ?

A) IR B) = C) W&

‘eﬁ@’ AR Rgd el STd 3T2El.
A) B) forror
C) reeTTil 3T D) forame

Y ‘R U= © e . Taesaet aTesEn.

A) I B) Fdsd C) TRl
TS S AeAT. - Rl HATBEl.

A) ol B) HT C) oTqui
A B FIATd - fhRaTIeT &9 i@

A) R B) 37U C) 9E

TRERTUTER Hol T AT | - TohaTIaT=I Yert STl

A) GFHH B) T fhaMe  C) T
fURheTetT ST STEEdl — 9Tq STl

A) fue B) 3Tl C) el
Hietehs’ TH™TET YR 35T,

A) TRA 53 B) d&fcihga  C) SgaRl
T’ A1 YeaThgE e Y 3eadT.

A) =ft B) dcd C) dvd

IR ICENED

D) fesrfaesien

D) 3T

D) d

D) {dt

D) &1q

D) @™

D) &ell

D) ST {eeRoT

D) W
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88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

-16- LT

IV IR FAITEY TEATT ¢
A) Toga B) @il C) 3uE D) Jead

Tete Sl shivr formfree = ?

A) Ui form B) stefform C) Teafer™ D) Yt
TRV TR STTEE Shele! THETY TEH TR hivld o 7

A) I B) 3T C) Sqacred D) TEdsciEH
Frfearduor et et vse fore.

A) ¥ B) WRfl C) T D) T

@A fecdiean IR 3aRRad sreer shrene sTiEl.

AT ST 8 ehier= ST

INEEICEZU B) 3UEH C) HarHA D) %
T FTSTAT IT07 SITerdl 3T SR el AR Rad Yeer= faverd sTiean.
A) o B) U=t C) Tt D) =igeft
A ST SO AT AT AR ATHTIET STHIE 3168 ShivrdT ¢

A) B) ATl C) s D) el
“foraren fopohe Wazdl . (I 3Ties@n)

A) FHHft B) TeH& &l ) FFHS &l D) I
TR ITATE GER 1 & 3T

A) 98 B) dTEEYEH C) weuit D) GYE™

HY 37T FTEX - TRE| Glowt |- TIaTTed foRIyoT TR ST ET.
A) FEETeE B) eqHTe C) TR D) HaTHHETd

T2 Toha 7 3 o} SO - ST YRR ST,
A) I g®  B) foeqdigss  C) e digsh D) SRS

ST | ShAATINT ST ST T3,
A) GalEAeReh  B) Gufdesie C) feriueste D) Hesieh

A) o B) FHURY C) #egHueddt D) et degey
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SECTION - III (English Subject Knowledge)

101. Which one of the following is not figures of speech ?
A) metaphor B) personification
C) elegy D) oxymoron
102. Choose the correct meaning of ‘pragmatic’.
A) theoretical  B) realistic C) productive D) suitable

103. Choose the correct word.

She was a religious lady, but her son was

A) pious B) an atheist C) unreligious D) philosopher
104. Use the correct prepositions.
Finding myself short money, I wrote my uncle help.
A) with, to, for B) of, to, about C) in, to, to D) of, to, for
105. Choose the word that is spelt correctly.
A) Bureaucracy B) Boreucracy
C) Beaurocracy D) Bureocracy

106. What is meaning of the word ‘aroma’ ?
A) a good smell B) odour C) warm D) strong

107. Find out the odd word from the followings :
A) rattle B) twitter C) squawk D) chatter

108. Choose the adjective form of ‘magic’.
A) magestic B) magical C) magician D) musical

109. Choose the correct spelling from the followings.
A) assasination B) assassination
C) assination D) assassnation

110. Use the correct word and fill in the blank :
Indians living in foreign countries are cultured.
A) The few B) Few C) Short D) A few

111. Choose the meaning of the word ‘posthumous’
A) postal B) after-death  C) creditable D) literary

112. Fill in the blanks with correct options :

Mahatma Gandhi was very simple and innocent, his behaviour was
A) childish B) child like C) humble D) proud
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113.

114.

115.

116.

117.

118.

119.

120.

121.

122.

18- LT

Choose the correct alternative of :
Shivaji was the greatest king

A) No other king was as great as Shivaji
B) Very few kings were as great as Shivaji
C) Shivaji was greater than himself

D) Shivaji was more greater than kings

Use the correct preposition of :

What are you talking

A) of B) for C) about D) none of them
Choose correct alternative :

I am afraid | attend the meeting.

A) can B) can’t C) could D) couldn’t
Use the appropriate article to fill in the blank.

France is European country.

A) a B) an C) the D) no article

Write an adjective form of ‘distinction’.
A) distinctive  B) distinctly C) distinctness D) distinctives

Choose the correct form of verb ‘liberty’.

A) libertine B) liberation

C) liberality D) liberate

“You are hitting him below the belt’, ‘to hit below the belt” means
A) to criticise B) to denounce

C) to attack unfairly D) beat with the belt

Choose the correct word for the underlined words in the sentence :

Smallpox is a disease which is commonly acquired from others.
A) infectious B) contagious C) parasitic D) communicative

It was a very fine morning.

Which is the exclamatory form of the above sentence ?
A) What was the fine morning ! B) How fine was the morning !
C) The morning was very fine ! D) What a fine morning it was !

Which one of the following words is not an adverb ?
A) frequently B) always C) happy D) fast

Clerk/Steno/Stenotypist



TR -19-

123.

124.

125.

126.

127.

128.

129.

130.

131.

Choose the sentence in perfect past tense.
A) She has been writing a letter ~ B) She had been writing a letter
C) She had written a letter D) She has written a letter

Choose the correct alternative to fill in the blank.

Ram is than Lakshman.

A) elder B) older C) eldest D) oldest
Choose the correct option to fill in the blank.
If you make promise, you must be sure to it.

A) accomplish  B) keep C) follow D) succeed

Which one of the following is not a ‘preposition’ ?
A) through B) into C) but D) between

Choose the correct sentence from the following.

A) The train left before we reached the station

B) The train will leave before we reached the station
C) The train had left before we reached the station

D) The train was leaving before we reached the station

Choose appropriate form of the verb to fill in the blank.

22

She in America since 1995.

A) lives B) is living

C) have been living D) has been living
Which one of the following suffix is not a class changing suffix ?

A) — ment B) — ness C) — hood D) -1y
Fill in the blanks with the correct option.
I am very busy today, we can go out tomorrow.

A) fortunately B) certainly C) perhaps D) obviously

Rearrange the jumbled parts of the sentence in proper sequence.
P — most of the students

Q — was so confusing that

R — the teachers explanation

S — didn’t understand it
A) PQRS B) PQSR C) RQPS D) PSRQ
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132.

133.

134.

135.

136.

137.

138.

139.

140.

141.

20- LT

Choose the correct verb form.

She ran because she in a hurry.

A) is B) was C) must be D) could be
Choose the correct option to fill in the blank.

She is the only to her father’s property.

A) hare B) hair C) here D) heir

Pick out the correct question tag.

You will call me as soon as you reach home,
A) will you ? B) won’tyou ? C) don’t you ? D) do you ?

Choose the correct alternative.

I am writing a letter to
A) a friend of me B) a friend of myself
C) a friend of ourself D) a friend of mine

Choose the correct question form of —

I love watching other play.
A) Did I love watching other play ?
B) Does I love watching other play ?
C) Who love watching other play ?
D) Do I love watching other play ?

Choose the correct part participle of ‘steal’.
A) stealed B) stole C) stolen D) steat

State the type of tense :
‘He scored 1286 goals’

A) simple present tense B) simple past tense

C) perfect present D) perfect past tense

What is the opposite of ‘sweet” ?

A) bitter B) sour C) yummy D) crunchy
Find the odd word from the followings.

A) screech B) crash C) honk D) foul
Choose the correct suffix to complete the following word —

favour

A) ate B) ete C) ite D) iate
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The little girl tried to

143.

144.

145.

146.

147.

148.

149.

150.

A) condole

B) condone

21-
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her brother when he broke his toy.

C) console

D) compensate

Knowing that he was a convict, I didn’t allow him to enter my house. Identify the

underlined clause.

A) Adjective clause

C) Noun clause

B) Adverb clause

D) None of the above

Which one of the following is not a plural noun ?

A) mice

B) cattle

C) oxen

Choose the correct opposite of ‘disparity’.

A) brotherhood

B) equality

Which is the passive form of ?

Give me hundred rupees.

A) Hundred rupees are given me

B) I was given hundred rupees

C) diversity

C) Let me be given hundred rupees

D) Let I was given hundred rupees

D) goose

D) fraternity

Choose the correct question tag form and fill in the blank :

I genius person.

A) amn’t

What is the type of underlined part of sentence — clause ?

B) am

C) aren’t

When I was seven years old, I overheard it

A) noun clause
C) adverb clause

B) adjective clause
D) none of them

What is the underlined part of sentence ?

Though he is fat, he runs fast.

A) simple sentence

C) complex sentence

What is the opposite of ‘off” ?

A) down

B) on

D) are

B) compound sentence

D) complex-compound

C) in

D) into
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151.

gLz,

152.

uUR.

153.

g43.

154.

guy.

155.

2.

22- LT

SECTION - IV (Mathematics Subject Knowledge)
When 10 is subtracted from a number and the remainder is taken 16 times, we get the
number 544. Find the number.

A) 24 B) 34 C) 44 D) 54
TSh GG 10 TSI hed R Steied] G 16 T2 ohall 18T 544 1 =eR fHezal, - ot §ea 2.
A) 24 B) 34 C) 44 D) 54

The ages of Kadar, Ali and Hafij are in the ratio 2 : 3 : 4. Ali’s age is 15 years. What are
the ages of Kadar and Hafij ?

A) 12 years and 24 years B) 20 years and 10 years
C) 10 years and 15 years D) 10 years and 20 years

TR, 3Tl I TThIST AT T UM 2 : 3 1 4 3T A= o 15 TN ST AL h1eL AT FTRI
RIEERAC i

A) 12 a4 afor 24 a9 B) 20 =9 31Ifor 10 o
C) 109 3for 15 o D) 10 = 1t 20 o

If a job is to be finished in 36 days instead of 60 days, how many times the original
number of labourers should be employed ?
3 5 4 5
A) 5 B) © 3 D) 3
@R M 60 feaanast 36 feaamed gl wee o, T o3 TR fohdl 92 STRd

°hIH‘I|{i"|I hTH h{0d Il ?

N B) o Qs D) 2
) 5 ) ) 3 ) 3

If diagonals of a quadrilateral are perpendicular to each other, then the type of
quadrilateral is

A) Parallelogram B) Rectangle C) Square D) None of these
SR STeh Tl U1 TohHeRT 06l STEd T aX T S eh e JehR ShivTdT ?
A) FHTE < AThH B) IR
C) =i'™ D) AR TR
The simple interest of some principal for 2 years is ¥ 1,250. Then, the simple interest of
the same principal for 5 years willbe ¥ ___ ?
A) 500 B) 1,253 C) 3,125 D) Cannot be determined
T JEEAT 2 T (A1) et AN T 1,250 3R, T & HIEaT 5 TN B0 TS el ?
A) T 500 B) % 1,253 C) % 3,125 D) 11 ¥ehd TR
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156.

guE.

157.

4.

158.

L.

159.

gLk,

160.

g&o.

The radius of a circle with centre ‘O’ is 6 cm. Point P lies on the plane of the circle. If
[ (OP) = 4.5 cm, find the position of P with respect to the circle.

A) On the circle B) In the interior of the circle

C) In the exterior of the circle D) Cannot be concluded definitely

‘O’ TThEISIg ST IqjeaTel! e 6 Tl AT, P &7 foig afes ol YeetTel 311, SR [ (OP) = 4.5 Tt
38, TR agesTal ge P forge T fafeea .

A) IS HETaR B) adeaT=AT AU

C) AT AT D) Ty Ffwaa & rehd A1et

th
If an article is sold for X 95, the profit is equal to 1 of the loss that occurs on selling the

same article for X 60. Find the cost price of that article.

A) X770 B) ¥ 80 C)X75 D) X 90
d o o d o 3

@Iﬂm95 QU AT Idehedd [H élullIl thqdlﬁ?“-lll%lehﬂ) QUL IAT Idehe 1M @IV d A= Z 9l
TR T T WidyehTet fohmra Sve.

A) X70 B) ¥ 80 C)X75 D) ¥ 90
The area of a square is equal to the area of an equilateral triangle with 2 cm side. Then
each side of the square will be cm.

V3

A) 2 B) - C) 3 D) 3
T SIRYT &T%hes 2 HH SIS ST HHS BRIV &1%hes] Tae 3T, T = RAT=A1 Jdih
EINCIICIRETIEStilc e o i

V3

A) 2 B) C) 3 D) 3

Factorise : a® — b®

A) (a—b)° B) (a’ - b3)?

C) (a2 - b?)3 D) (a+b) (a—b) (a2 —ab + b?) (a% + ab + b?)
ATIF ITET : ab — b

A) (a-b)° B) (a3 — b3)?

0) (a% - b%)3 D) (a+b) (a—b) (a2 —ab + b?) (a® + ab + b?)
If 27 =9 x 5" =4 =5, then the value of n is

A) 2 B) 3 O 4 D) 5
SR 213 x 5N -4 = 5 I a n < fehma feRdt ?

A) 2 B) 3 C) 4 D) 5
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161.

g&%.

162.

2&R.

163.

¢&3.

164.

¢RY.

165.

28R4,

166.

2&E.

24- LT

Sum of two numbers is 17 and the difference between them is 7, then find their product.
A) 66 B) 70 C) 72 D) 60
SR GH AT ST 17 9 e B 7 36, T 1 & 9= TURR ford! 318 ?
A) 66 B) 70 C) 72 D) 60
Given only two diagonals, which of the following quadrilaterals can be drawn ?
A) Rectangle B) Rhombus C) Kite D) Parallelogram
SR e S Ul foct ST Wefietieh! IVl ek hiedl J3et ¢
A) TRd B) TuySIdleE  C) Wan D) THT S 91
Which of the following is not a polynomial ?
1
A) 2 ex B -Tmesm O pr4 D) %a+ﬁb
GTATAUehT T Tgual AT 7
1
A V2 +x B -Tmlesm O pP+ D) Sa+42b
After giving 10 % discount, the selling price of a shirt is ¥ 450. Then the market price of
the shirt is X
A) 495 B) 460 C) 500 D) 490
10% gz Teeamax went wd= faght fohma 450 . Bid o o1 31! It (Yes) Torwa fordt ?
A) X 495 B) X 460 C) X 500 D) X 490
The volume of a sphere with 21 mm radius will be cubic cm.
A) 38808 B) 3880.8 C) 338.08 D) 38.808
21 /.. B e Mar g% @3,
A) 38808 B) 3880.8 C) 338.08 D) 38.808
The sum of two numbers is 96 and their difference is 24. Find the ratio of the numbers.

A)4:1 B) 4:5 C1:4 D) 5:3

TH HEITE SN 96 I WA Heh 24 A TR &1 & AT U 30T ?
A) 4:1 B) 4:5 C) 1:4 D) 5:3
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167.

2R,

168.

2&<.

169.

2&R.

170.

2o,

171.

g%.

1
77 + 717= — thenx =?

=0
A) 24 B) - 10 O) 10 D) None of these
1
7+ 7= -, @Wx=7?
7X
A) 24 B) — 10 O) 10 INRIECIEIN]
If x = 3y = 2p = 4, find the value of 9xy2 — 3yp
A) 72 B) 24 C) 30 D) 56
ST x =3y =2p =4, &@H,ﬂ?9xy2—3ypaﬁﬁqﬁm
A) 72 B) 24 C) 30 D) 56
Volume of a cube is 216 cc. So area of one surface of a cube = cm?.
A) 36 B) 72 C) 18 D) 24
TehT BT B 216 cc (THY)3 TR, R T ST Uehl TS3HTT &%l = (Fft)2
A) 36 B) 72 C) 18 D) 24
If a polynomial is divided by (x + 3), quotient is (X — 2) and remainder is — 7. Then the
polynomial is
A) x2-x+1 B)x*+x-13 O) x*+x+1 D) x2—x + 13
SR T ST (X + 3) = WRTH ST AR (x — 2) 3 skl — 7 THesd T df agaidt hivrd] ¢
A x2-x+1 B) x2+4x-13 C) x2+x+1 D) x2—x + 13
97 + 32 =32 4+ 97 is an example of
A) Commutative property B) Associativity property
C) Closure property D) Distributive property
97 +32 =32+ 97 T WATTIh! IV I 3Tg 7
A) FRFTIEFTToEH B) HE= UTH
C) T forveft fomam D) foraor ures
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172. How many percent of X 5 is 90 paise ?
A) 12 B) 14 O) 16 D) 18
29R. 90 9 TRUSI T 5 = Tehel! ooh 7
A) 12 B) 14 O) 16 D) 18
173. The measure of ZABC of a rhombus ABCD is 100°.Then what is m ZBDC ?
A) 60° B) 40° C) 45° D) 50°
993, FAYS FehH ABCD 98 A9 ZABC = 100° 38l T 819 £/BDC =
A) 60° B) 40° C) 45° D) 50°
174. If x is an odd number, which of the following numbers is even ?
A) 2x+3 B) 2x+5 C) 2x-3 D) 2x + 4
Y. S x B faug o s/@e, d Wielieish! hivrd §at a8 AR 7
A) 2x +3 B) 2x+5 C) 2x-3 D) 2x +4
175. If the base of a triangle is doubled and the height remains the same, then new area will be
A) 2 times B) 3 times C) 4 times D) None of these
904, TERT FrehIvTT= 3= 71 SEeTd] IR Gee Shell a AR BIOTT=AT -Tat BRI &hat ST Fehivr=a
STBATAT fohd U 78 ?
A) U B) faue C) e INRIECIEIN]
30*
176. — =
5
A) 62 B) 6% C) 52 x 62 D) 52 x 64
30°*
2&9?«. 5—2=
A) 62 B) 64 C) 52x 62 D) 5% x 64
177. P is a positive rational number such that 1000 x P < 1000. Which of these could be P ?
A 2 B) =2 o) 124 D) There is o such number P
) D ) 1 ) 1 ) There 1s no such number
g0, P & o9 WY T i 3R i, 1000 x P < 1000. 7€ P =t o shivrd ?
12 1 .
C) 12— D) PHT! ATl 7k ATt

11
A 1 B 11
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178.

¢,

179.

R,

180.

2¢o.

181.

(AR

182.

LR,

(-p)-q)? =

A) p? +2pq + ¢? B) p>-2pq +q?
C) - (p)*> - 2pq - ¢* D) - (p)* - 2pq + ¢
(-p)-q)? =

A) p? +2pq +¢? B) p>-2pq +¢?
C) - (p)*> - 2pq - ¢* D) - (p)* - 2pq + ¢

Sadu’s average marks in 5 subjects were 60.6. His total marks in the remaining two subjects
were 173. Find his average marks of all the subjects.

A) 68 B) 66 C) 65.6 D) 64.6

gg=a1 5 T TEd U1 60.6 378 . el G Torsm=at o= siist 173 31R. X =1 64
Tersrrian ToTr=h T T R B ¢

A) 68 B) 66 C) 65.6 D) 64.6

The price of a novel is 20% more than the price of a drama book. By how many percent
1s the price of the drama book less than that of the novel ?

2
A) 10 B) 16 C) 20 D) 25

ThT SHATCHe JEdehTe! fohHd TehT ATTeshT=al JdehT=al FohAU&TT 20% SR 3718, O FTeshT=al

qEeRTe ToRA < RATcHeh JEehT=aT TRt | UefT fohcl! earraTl sl o8 d 7

2
A) 10 B) 163 C) 20 D) 25

The area of a trapezium is 100 m2. If the sum of its parallel sides is 50 m then, its height
1s equal to

A) 4m B) 6m C) 8m D) 10m

Toh GHAS Sl &% 100 (H1)? 3T, S EHIGL e oS 50 #1378, q€ aHeis
rehiTel It fehelt o78at ?
A) 44t B) 6Hl C) 8Hl D) 10 Ht
Which of the following values are equal ?
(P) 14 (Q) 40 (R) 0* (S) 4!
A) Pand Q B) Qand R C) PandR D) Pand S
GTefterdehl shivTeaT fehmet T 71 ?
(P) 1% (Q 4 (R) 0* (S) 4!

A) PaATfoTQ B) QATUIR C) PafUTR D) Paifurs
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183.

2¢R.

184.

LY.

185.

(SR

186.

LA,
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Find the value of P, if the median of following observations is 48
14,17,33,35,P-5,P+ 7,57, 63,69, 80.

The above observations are in ascending order.

A) 45 B) 47 C) 49 D) 51

T amfi= AeTe 48 T8 d oX P =i fhAa s,
14, 17,33,35,P-5,P+ 7,57, 63, 69, 80.
= gTevl I@cdT M shalall 3712,

A) 45 B) 47 C) 49 D) 51
GCD of 54 and 1x 6 is 18. Find the second number.

A) 106 B) 116 C) 126 D) 136
SR 54 3TT0T 1x 6 =1 9.491.59. 18 7, T gudt e .

A) 106 B) 116 C) 126 D) 136
3_9

e

A) 3.75 B) 0.75 C) 0.375 D) 0.0375
3_9

2!

A) 3.75 B) 0.75 C) 0.375 D) 0.0375

L7 ABCD is a rhombus and its diagonals intersect each other at point E. If / (AC) =8 cm
and [ (BD) = 6 cm, find / (AB).
D C
A B
A) 8cm B) 7cm C) 4cm D) 5cm

TAYS F1ehH ABCD = i TshHeh1 E foigd 8&amd SR ((AC) = 8 Tl 37101 [(BD) = 6 HHl

[(AB) =
D C

A B
A) 89Hl B) 7 & C) 44t D) 54t
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187.

LYACK

188.

R¢cC.

189.

(SAY

190.

¢Ro.

191.

gRe.

192.

gRR.

If the number ‘21x5’ is a multiple of 9, where ‘x’ is a digit, what is the value of ‘x” ?
A) 6 B) 3 OO0 D) 1
SR 21x5° & HEAT 9 <t TR W1 WA F X’ IS I8 X x” < fehwra fehedt ?
A) 6 B) 3 00 D) 1
Which of the following trinomial has the factors (5x — 1) and (6x + 1) ?
A) 1-x2+30x2 B) 30x2+x—-1 C) 30x2+x+1 D) 30x2-x—1
(5x — 1) 30T (6x + 1) B et Budi= st AR 2
A) 1-x2+30x2 B)30x2+x-1 C)30x*+x+1 D) 30x2—x-1
The multiplicative inverse of (x + y)isz. f z=8 and y =— 2, then x = ?
17 8 _17 _8
A g B 17 © 73 D) =7
(X +y) =1 TUTERR T 2 TR Sz =8 ATMNy = — 2 A MW x = ?
17 8 _17 _ 8
A) 8 B) 17 © 8 D) 17
The population of a city increases by ‘x’ every year. It will be ‘b’ after ‘a’ years. Find the

present population of the city.

A) ab B) b-ax C) ax D) a-b
U1 ST AAIREEAT @ X | ded. ST “a” INiHat Tl Yetrel AlhEE] b’ B e W
1 YT e e fehdt 7

A) ab B) b-ax C) ax D)a-b

One of the four angles of a parallelogram is 65°. Then the measure of its adjacent angle is
A) 65° B) 90° C) 115° D) 25°

WW%EWWWWWW@O 2. dC T AT ATA=AT hIFT HT
fordY 3731 318« 7
A) 65° B) 90° C) 115° D) 25°
6/7
— =9
By how much does 73 exceed g
1 3 3 1
6— 6~ 7= 7=
A) 62 B) 6 o 75 D) 7g
6 6/7
— g1 — 9&T fohd ™ STTed @18 ?
7/8 8
1 3 3 1
6— 6> 72 7=
A) 63 B) 67 SR D) 73
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193.

gR3.

194.

¢RY.

195.

g4,

30- LT

1 23
If ¥ 782 is to be divided into three parts, proportional to 5 3 Z then the first part is
A) X 182 B) ¥ 190 C) X 196 D) X204
2 3
SR X 782 T WHTI TorvTRTed ST cqltl]\'[uﬁ?ﬂz 31 c5d O AT e RN fohwa forc ?
A) X182 B) X 190 C) X196 D) ¥ 204
A number is selected from numbers 1 to 27. The probability that it is prime number is
A) 2 B) - c) + D) 2
) 3 ) 6 ) 3 ) 9
1T 27 Gl Uah G et Sdt. o T Jeue Jur IeRrd fohd] ?
N B) - o D) -
) 3 ) 6 ) 3 ) 9
Following marks were obtained by 12 students in a mathematics test :
21, 20, 25, 5, 10, 15, 30, 12,7, 16, 9, 22
The range of the marks is
A) 20 B) 25 O) 21 D) 7
T =t wWierd 12 formeaia et sHl 1 e ed

21, 20, 25, 5, 10, 15, 30, 12,7, 16, 9, 22

T[0T UM FTET T
A) 20 B) 25 C) 21 D) 7
196. a* - b=
A) (a-b)? B) (a2+b%) (a+b)(a-b)
C) (a2 - b?)? D) (a + b)? (a — b)?
9R&. a* —b* =
A) (a-b)? B) (a2 +b?) (a+Db)(a—Db)
C) (a2 - b?)? D) (a+ b)? (a—b)?
197. Which of the following options represents the number 2.83333 ..... correctly ?
83 = — 283
A) 2765 B) 2.83 C) 2.83 D) 1o
R, GieficTush! ShivdT YT facteaT T 2.83333 ... axtaal ?
83 = — 283
A) 2755 B) 2.83 C) 2.83 D) Too
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198. In AABC, line DE || side BC

[(AD) =6, (DB) =8

[ (AE) =9, [ (EC) =

A
6 9
< D E >
/ \
B C
A) 6 B) 8 O 9

9%¢. AABCH=, W DE || 915 BC
[(AD)=6, [ (DB)=8
I(AE) =9, I(EC) =

A
6 9
< D E >
B C
A) 6 B) 8 09
4a’ —12ab+9b>
= 9
199. T )
A) 2a+ 3b B) 2a+b C) 2a-3b
4a’ —12ab+9b?
=9
2%R. 5a3h )
A) 2a+ 3b B) 2a+b C) 2a-3b

22

D) 12

D) 12

D) 2a— 4b

D) 2a — 4b

200. The length and breadth of a room are 5 m and 3 m respectively. If tiles of dimensions
25 cm x 25 cm are to be fitted on the floor of the room, how many tiles will be required ?

A) 480 B) 120 C) 240

D) 180

R00. TERT @icHIE TS ST %41 3Tgehl 5 i F 3 H} 3. SR 25 Tt x 25 TH 7Y TeciedT Hea
W He W= 998 a1 eI fohd| HeaT AT e ¢

A) 480 B) 120 C) 240

D) 180
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